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2.4.2 Understanding business performance
1.	For each of the data sets below, decide whether the information would be best displayed as a line graph, bar chart or pie chart.IGD are a retail analysts who recently provided the following estimates:
IGD expects the UK grocery market to be worth £179.1bn in 2016, an increase of 0.6% on 2015
We forecast that the UK grocery market value will be worth £196.9bn in 2021
The grocery market accounts for 50.2p in every £1 of UK retail sales

	Data set
	Line graph
	Bar chart
	Pie chart

	Data showing the market share of the leading supermarkets in the UK
	
	
	

	Data showing the profitability of a business over a 10-year period
	
	
	

	A set of data which highlights the number of complaints received customers for each branch of a local building society
	
	
	


2.	Considering the second bullet point, calculate the percentage increase in sales in 2021 compared to the expected sales value in 2016?
 	
 	
 	
3.	If the grocery market accounts for 50.2p in every £1 of UK retail sales, calculate the estimated value in UK retail sales in 2016?
 	
 	
 	
4.	State whether a pie chart, bar chart or line graph would be best to show the grocery market as a percentage of total UK retail sales?
 	


3.	Construct a pie chart to highlight the market shares of the firms in the global chocolate market.A student at Harvard has calculated the market share of firms in the global chocolate market. The results are:
Nestle 
27%
Fevrier
17%
Cadbury
15%
Kraft
13%
Hershey
13%
Barry Callebaut
7%
Ferrero
4%
Lindt
4%
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Exam-style questions on Topic 2.4

Don't rush; check your answers carefully.

1 Which one of the following is the best

definition of net profit margin?

() Profit after fixed overheads are taken
away as a percentage of total revenue.

() Profit before fixed overheads are
taken away as a percentage of total
revenue.

() Profit after fixed costs are deducted
as a percentage of total costs.

(9) Profit after deducting the margin of
safety as a percentage of total revenue.

1)}

2 Which two of the following are valid
conclusions based on the information in
the graph below?

(a) Since 2003 the position of Airbus has
been getting better and better.

(b) The fall in orders in 2015 should make
Airbus cut its rate of production/
deliveries.

(c) Deliveries in 2018-19 will be six times
higher than in 1997.

(d) The level of orders since 2005 is far
outstripping deliveries.

(e) There were 400 more aircraft
deliveries than orders in 2005.
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* Questions 3 and 4 are based on the following
able of figures.

Lastyear | Thisyear
Sales revenue €140,000 | £165,000

Cost of sales £70,000 £80,000

Cost of fixed overheads | £50,000 £55,000

Net profit £20,000 £30,000

3 Which one of the following is a correct
statement based on the figures? m
() The net profit margin this year is 10

per cent.
(6) The net profit margin last year was
14.29 per cent.
(9) Managers should have to answer for
the serious rise in ‘cost of sales’ this year.

(9) The net profit margin this year is an
increase of 50 per cent

4 Which one of the following is the correct
figure for the gross profit margin last
year? 0]

() £85,000
() 100 per cent
(9 £70,000

(d) 50 per cent

w

Which one of the following are all needed
to calculate the average rate of return
(ARR)? m
() The number of years, the sales
revenue, the net profit and the total
cash inflows.
(6) All net cash flows over the
investment's Life, the initial outlay and
the number of years.

(©) The initial outlay, the gross profit, the
fixed overhead costs and the number
of years.

() The initial outlay, the break-even point
and the number of sales made.

6 ABC Ltd and BFG Ltd are direct rivals
in the market for publishing computer
games magazines. The figures given in
the table show the latest position for each
business.
Which two of the following are conclusions
that can be taken from these figures? (2

ABC Ltd BFG Ltd

(€ millions) (€ millions)
Sales this year | £125 €16.0
Marketsize | €50.0 €50.0
this year
Sales last year | £12.0 €144
Marketsize | €48.0 €48.0
last year

(a) ABC's sales have risen by 20 per cent
this year.
(b) The market hasn't been growing,
which makes it hard to succeed.
() BFG's sales are rising faster than ABC's.
(d) BFG's share of the market has risen
from 30 per cent last year to 32 per
cent this year.
(€) The total publishing market seems to
be worth £98 million

Now try this discussion question.

7 Discuss whether a growing business
could ever have a net profit margin that is
too high. )
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1 In the year to 26 March 2016 Lucozade retail

sales were £463.8 million out of total sales
of £1,300 million in the UK market for sports
and energy drinks.

(a) Calculate Lucozade's sales as a
percentage of the whole market for
sports and energy drinks.

(b) State whether a bar chart, a pie chart
or a line graph would be the best way of
showing this.

2 Outline one possible reason why Airbus was

able to move from a 44 per cent share of
sales in 2006 to 57 per cent in 2015.

Given that spending per person on nappies
was £9.64 in the UK and £3.41 in China in
2015, how is it possible for China's market
size to be seven times that of the UK?

Explain why financial data might not help a
business make a decision about whether to
spend £5 million on a sponsorship deal with a
successful Olympic athlete.
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1 Percentage and percentage change

11

1.2

1.3

A business has total weekly sales of
£15,000. One of its products sells £10,500
aweek. Calculate the percentage that one
product represents as a percentage of the
total.

A company’s profits fall from £42,000 last
year to £29,400 this year. Calculate the
percentage change.

Last year a company had 60 staff.

his year it employs 81. Calculate the
percentage change in its staffing.

2 Averages

21

n the past three years a company’s
profits have been: £42,000, £12,000 and
£66,000. What has been the average level
of profit per year?

n a warehouse employing 50 people,
actual attendance at work has varied as
ollows:

4 weeks ago: 44

3 weeks ago: 46

2 weeks ago: 39

1 week ago: 34

Calculate the average weekly
attendance

o000

3 Revenue, costs and profit

3.1 Ahamburger stall sells burgers for £5.

Each one costs £2 to make and running
the stall costs £400 a week. Its weekly
sales are 500 burgers.

a) Calculate the revenue.

b) Calculate the total costs.

c) Calculate the profit.

3.2 A company sells 200 items a week at £12

each. Its variable costs per unit are £4

and weekly fixed costs are £1,200.

a) Calculate the profit.

b) Calculate the break-even point.

¢) Calculate the new profit if sales rise
by 50%

4 Gross and net profit margins

4.1 In the past six months a company has

£90,000 of revenue, with £40,000 cost of
sales. After taking away other operating
expenses and interest, the business was
left with £12,000 of net profit.

a) Calculate the gross margin.

b) Calculate the net margin.

4.2 A business with revenue of £200,000

has a gross profit margin of 40 per cent.

Calculate its cost of sales.
-
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5 Average rate of return

5.1 A business forecasts that a £50,000
investment should make £15,000 profit
a year, after allowing for all costs.
Calculate the average rate of return.

5.2 A company estimates that a £20,000
investment will bring in £40,000 profit
over the next four years (after allowing
for the cost of the investment). Calculate
the average annual rate of return.

6 Cash flow

6.1 A business has £4,000 of cash at the
start of a month. Its cash inflow is £5,000
and outflow is £2,000. Calculate the
amount of cash it has at the end of the
month.

6.2 A business starts a month with £8,000 of
cash. £10,000 is paid out but it ends the
month with £9,000 in cash. Calculate that
month’s cash inflow.
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